Epyaotipio 4 - ATTaVTACEIG

In[1]:= Expand[ (e* +e?*) 4]

outfl= e *+4 e

’ Slrl[g]
In[2]:=
ArcTan[—]
31/3
Out[2]=

i

22/3 prcTan { - }

3= N[%, 20]

ou3- 1.6195887004714138831

m 2
ool (3]

Out[4]=

5= N[%, 20]

outj5]= 3.0307926169822788207

nel= x1 = 4;
yl=-3;
x2=1;
y2=1;

Info}= d = \/ (x2 -x1)2 + (y2-y1)?

out[10]= 5

1= Factor[12x®+27x+y - 84 y?|

oufi)= 3 (dx-T7y) (x+4vy)

In[12]:= Expand[ (x+y) 2 (3x-y) 3]

out[12]= 27 x°+27x'y-18x3y?-10x° vy +Txyt -y

2 x2
In[13]:= Together[—2 - ?]
X

4 - x*
Out[13]=
2 x?
x3+2x?-x-2
In[14= 1 = ——mm ———
x3+x?-4x-4
—2-x+2x%+%°
Out[14]=

—4-4x+x%+x°



In[15]:=

out[15]=

In[16]:=

out[16]=

In[17]:=

out[17]=

In[18]:=

out[18]=

In[19]:=

out[19]=

In[20]:=

out[20]=
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In[22]:=

out[22]=

In[23]:=

In[24]:=

out[24]=

In[25]:=

In[26]:=

out[26]=

In[27]:=

In[28]:=

out[28]=

Numerator|[1]
—2-x+2x°+%°

Factor [%]
(-1+x) (L+x) (2+x)

Denominator[1]
—4-4x+x°+x
Factor [%]

(-2+x) (L+x) (2+x)
Simplify[1]

-1+x

-2 +x
Apart[l]
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flx_]: x?

f[2]

glx_] :

gl4]

hix ] :=x+8Sin[x]
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flx_]:

Plot[£f[x], {x, -3, 3}]

Which[x 20, x*+1, x <0, -x-1]
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